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General Instructions :
Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four Sections — A, B, C and D.

(it)  There are 37 questions in the question paper. All questions are
compulsory.

(iti) Section A — Questions no. 1 to 20 are very short answer type questions,
carrying one mark each.

(iv) Section B — Questions no. 21 to 27 are short answer type questions,
carrying two marks each.

(v)  Section C - Questions no. 28 to 34 are long answer type questions,
carrying three marks each.

(vi) Section D — Questions no. 35 to 37 are also long answer.type questions,
carrying five marks each.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of. 1. mark, 2 questions of
2 marks, 1 question of three marks and all the 3 questions of five marks.
You have to attempt only one of the choices in such questions.

(viit) In addition to this, separate % uctions.are given with each section and
question, wherever necessa

(ix)  Use of calculators and lo les is not-permitted.
(x) You may use the wing wvalues of physical constants wherever
necessary. @
c=3x10% m/s

h = 6-63 x 1073%Js
e=16x1012C

Ug = 47 X 107" TmA™!

g9 = 8854 x 10712 C2 N1 m2

1

4n80

Mass of electron (m,) = 9-1 x 10731 kg

=9x10° Nm?(C2

Mass of neutron = 1-675 x 10727 kg

Mass of proton = 1-673 x 1027 kg

Avogadro’s number = 6-023 x 1023 per gram mole
Boltzmann constant = 1-38 x 10723 JK!
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SECTION A
Select the most appropriate option from those given below each
question :
A charge Q is kept at the centre of a circle of radius r. A test charge q, is

carried from a point X to the point Y on this circle such that arc XY
subtends an angle of 60° at the centre of the circle. The amount of work

done in this process will be 1
Qq
@
4n80 2r
1 V3 qu
(B) 1
TE, 2r
(C) Zero
o L V9
4me r
0
™
2. An isosceles right angled gﬁrrent carrying loop PQR is placed in a
uniform magnetic fiel &Z} ointing along PR. If the magnetic force acting
on the arm PQ is F@en the magnetic force which acts on the arm QR
will be 1
i ¥ i i i
A | 4N\ 4
i p | | 1 Q
(A) F
F
B) —=
V2
(C) 2F
(D) -F
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2 S
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fopell & o IFehig & URHTH 2 | i3 Wieid 39 & H fohel 9 § greehiE
& I fGR | 45° &1 IV A FT TAY AT 7 | 39 &F H I8 WeH g 9

I TR BT, IFhT IATRId BAAT 1
(A) W @

B) 9d

(OREIEE

(D) Fueler

n Yfgehi H J% &1 a4 R @ 1 [9.d1. 99 (emf) E % &4 8 96
() &0t H, 3R TR (b) UTea H HAAG fopam T 8 | GHT TN | Jid HhUS

3 SHEHT <hl SHAHld 21 1
(A) n:1

(B) 1:n

(C) n?:1

(D) 1:n?2
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An electric dipole consisting of charges + q and —q separated by a
distance r, is kept symmetrically at the centre of an imaginary sphere of
radius R (> r). Another point charge Q is also kept at the centre of the

sphere. The net electric flux coming out of the sphere will be 1
@A (29 + Q)
4ne 0
® 2
€0
© 29
€0
o -9
€0

A parallel plate capacitor is charged to V volt by a battery. The battery is
disconnected and the separation between the plates is halved. The new

potential difference across the cgacitor will be 1
\Y% Q

@a - N
2 &§

B) V \QQ}

(C) 2v @Q

™ S

A region has a uniform magnetic field in it. A proton enters into the
region with velocity making an angle of 45° with the direction of the
magnetic field. In this region the proton will move on a path having the

shape of a 1
(A) straight line

(B) circle

(C)  spiral

(D)  helix

n resistors, each of resistance R are connected (a) in series, and (b) in
parallel. Each combination is then connected to a source of emf E. The

ratio of heat produced per second in the two cases will be 1
(A) n:1
B) 1:n
(C) n2:1
(D) 1:n?
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7. foel S eme § 1
(A)  p-Heteh TcAeeh AUMMBA qem n-hetsh 31y AUl grar 2 |
(B) n-%aieh TcAfeh TUMTG dUT p-Tefeh 37U UM BiaT B |
(C) n-heteh 3N p-Heieh ST &1 TcTTYeh ITHIT B & |
(D) n-%cAH N p-HeAh ATl &l 3T UMW B & |

8.  TISgINM WA % SR Hisd H, ndi fofas wem d golaeq Hl o Sl

frferfiaa o @ foraeh rgshuTaTd Bt B 2 1
(A) n
® 1
n
(C) n2
1 S
9. m?vls 1ﬁﬂﬁ'@ﬁﬁ@\%81ﬂﬁ%%" 1
(A)  I{9dTg 9 @
(B)  Tfa=fierdn
(C)  Sfauierehdr
(D) fawa yauran
10. 1 C Imaw & fola fogq worea gran 8 1
@ L
€0
(B) 4n
c 2
€0
(D) g
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7. A zener diode has 1
(A)  heavily doped p-side and lightly doped n-side.

(B)  heavily doped n-side and lightly doped p-side.

(C)  heavily doped n-side as well as p-side.

(D) lightly doped n-side as well as p-side.

8. In Bohr’s model of hydrogen atom, the total energy of the electron in

nth discrete orbit is proportional to 1
(A) n
1
B =
n
(C) n?
1
D) = N\
n2 SQKQ
X
9. m?V-1s1is the SI uni Qwhlch of the following ? 1
(A)  Drift velocitsy
(B)  Mobility
(C)  Resistivity
(D)  Potential gradient
10. The electric flux emerging out from 1 C charge is 1
1
A —
€0
(B) 4=
©
€0
(D) ¢
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Note: Fillin the blanks with appropriate answer :

11. In Young’s double slit experiment, when the monochromatic source is
replaced by a source of white light, the central fringe becomes . 1

12. In photoelectric effect, the number of emitted photoelectrons is
proportional to of incident light. 1
OR
Light of frequency v is incident on a photosensitive surface of threshold
frequency vy (v>vgy). The value of kinetic energy of the. emitted
photoelectrons will be . 1

13. The phase difference between the two points on the same wavefront is

1
14. The refractive index of the material of a converging lens is 1-5. If air is
replaced by a medium of refractive index 1:6, then the lens will now
behave as a lens. 1

15. The value of Brewster’s angl@f@r air-glass: interface is g, hence the
o RS
refractive index of glass is %Q . 1
S
Note: Answer the followin N

16. A circuit element i&onnected across an ac source. It is observed that the

voltage across the element leads the current flowing through it by a

phase angle g Identify the circuit element. 1
17. Write the impedance of a series LCR resonant circuit in terms of L, C

and R. 1
18. Mention the contribution of Indian physicist J.C. Bose in the production

of electromagnetic waves. 1

19. In an ac circuit, the applied voltage and flowing current are E = E(, sin ot
and I = I sin (ot + g) respectively. What is the average power consumed

in one cycle in this circuit ? 1
OR
What happens when a block of metal is kept in a varying magnetic field ? 1
20. Which physical quantity associated with an electromagnetic wave does

not change when it propagates from one medium into another medium ? 1
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Download all NOTES and PAPERS at StudentSuvidha.col


http://studentsuvidha.com/
http://studentsuvidha.com/

21.

22.

23.

24.

25.

26.

27.

0]
[=

Qs @

ATaNeh Ty 4 Q 3 f9.91. 5 (emf) 12 V I =g deh foreft smer ufctia R
g gaifeg 3 | afe ufcliy & yenfgq 9/ 05 A B, @ (a) R, 91 (b) Sedi <
e Seear 1 79 9iesfaa i |

f, BIhH G I I3 IER < fy BT U (f) > ) * el sroErl <F %
THTE T H W@ 1R | f; 3R £y o UG § 39 HIASH ohl FHAT I YR
futfa i |

HAAT

frdl @y gemedl il fover emar fhm wer wwifim (@t R afe
(a) ITATT fohT TTT WehTeT shl TR A &I ST &, 3 (b) $8h ST1WgwIh il
T T AH B AT ] 2 AU I I gy Hifow |

Wehed L <hl Torefl afrforent & dfea St U 2 | 50 giTiershr § i Uik
TS WL Sl WA g R S R | U SR HA @l Rl sl qEH TEd
T () Wi & S H e, @ ) 3§ e sif st
i | &6
ﬁé%lsélﬂqmﬂﬁammmﬁ%
e e a8 g G S et s A
8 237 TN hl el T NG § SIMST |
(b) 39 HehAUI-H § foReH el B quieed Y TegH! @1 Iaafid gt 2
3l HIHH B, NH Uk ITIrah gared i don gedt wlagreaesh gared i adt
7, Toreht aTe1 TohH Frehia & | & o "t T STt 8 | Tcish TR |§
TrEh 8 % U A BN el Sl M@ Wieet 29fsu |

foret goterela SR fordlt WelT & Heig ¢ st aureed gae 3 | fag s f
gAFe( ohl TSt Sotl Tiei i Tifas Sort & feres 2 |

HI3 AP AEY fhd TR fagq-grech aun fafeeRa war 8 2 gemm
a1 ergha qen fafefa ot 6 safa & st ey v |

AT
(a) 39 e <hl &Y H AT I foh foeq-grechia ati it 984 et @ |
(b) &9 T H R (YT) F HROT e BT W FAT TE B & 2

551312, 12

~ Download all NOTES and PAPERS at StudentSuvidha.col


http://studentsuvidha.com/
http://studentsuvidha.com/

BB
it

SECTION B

21. A battery of emf 12 V and internal resistance 4 Q is connected to an
external resistance R. If the current in the resistance is 0-5 A, calculate
the value of (a) R, and (b) the terminal voltage of the battery. 2

22. A converging lens of focal length f; is placed coaxially in contact with a
diverging lens of focal length f, (f; > f5). Determine the power and nature
of the combination in terms of f; and f5. 2

OR

How is the resolving power of a compound microscope affected if
(a) wavelength of light used is decreased, and (b) the diameter of its
objective lens is increased ? Justify your answers. 2

23. The energy stored in a solenoid of inductance L is U. The number of turns
per unit length of the solenoid is doubled. Keeping the current and all
other factors same, find (a) change in inductance of the solenoid, and
(b) the final energy stored in t ductor. 2
\}\’é&l

24. A hydrogen atom is in its excited state.

(a) How many spec ines can be emitted by it before coming to the
ground state 28how these transitions in the energy level diagram.

Q
(b)  In which of %e above transitions will the spectral line of shortest
wavelength be emitted ? 2

25. Two identical bars; one of paramagnetic material and other of
diamagnetic material are kept in a uniform external magnetic field
parallel to it. Draw diagrammatically the modifications in the magnetic
field pattern in each case. 2

26. The de Broglie wavelengths associated with an electron and a proton are
equal. Prove that the kinetic energy of the electron is greater than that of
the proton. 2

27. How does an oscillating charge radiate an electromagnetic wave ? Give
the relation between the frequency of radiated wave and the frequency of

oscillating charge. 2
OR
(a)  Explain briefly the fact that electromagnetic waves carry energy.
(b)  Why do we not feel the pressure due to sunshine ? 2
551312 13 P.T.0.
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SECTION C

Write the relationship between mobility and drift velocity in a
current carrying conductor.

Two aluminium wires have their lengths in the ratio 2 : 3 and radii
in the ratio 1 : 3. These are connected in parallel across a battery of
emf E and of negligible internal resistance. Find the ratio of drift
velocities of the electrons in the two wires.

Why is an intrinsic semiconductor deliberately converted into an
extrinsic semiconductor by adding impurity atoms.?

Explain briefly the two processes that occur inp-n junction region
to create a potential barrier.
The density of the nuclear matter is tremendously larger than the

physical density of the m%@rlal Explain.

The nuclear forces &% not eoulomb forces between nucleons.
Explain. &

Draw a plot of \ potential energy between a pair of nucleons as a
function of d@ance between them inside a nucleus.

What are matter waves ? Find the ratio of de Broglie wavelengths

associated with proton and alpha particles when both particles

(a)
(b)

(a)

(b)

are accelerated through the same potential difference.

have same velocity.

Using the necessary ray diagram, derive the mirror formula for a
concave mirror.

In the magnified image of a measuring scale (with equidistant
markings) lying along the principal axis of a concave mirror, the
markings are not equidistant. Explain.

With the help of a circuit diagram, explain how two p-n junction diodes

along with a centre tapped transformer can be used as a full wave

rectifier.
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35. (a)

(b)

(a)

(b)
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34. A series LCR ac circuit has L=2-0 H, C =32 uF and R = 10 Q.

(a) At what angular frequency of ac will it resonate ?

(b)  Calculate the Q value of the circuit. 3
OR

An ideal inductor of 5 H inductance is connected to a 200 V, 50 Hz ac
T

supply.
(a)  Calculate the rms and peak value of current in the inductor-.

(b)  What is the phase difference between current through the inductor
and the applied voltage ? How will it change if'a small resistance is
connected in series with this inductor in the circuit ? 3

SECTION D

N

35. (a) Derive the expressioztfor the force acting per unit length between
two long strai arallel eurrent carrying conductors. Hence

define one am@

(b) Two long parallel straight conductors are placed 12 cm apart in
air. They carry equal currents of 3 A each. Find the magnitude and
direction of the magnetic field at a point midway between them
(drawing a figure) when the currents in them flow in opposite
directions. 5

OR

(a)  Draw the schematic sketch of a cyclotron. Explain the shape of the
path on which charged particle moves when the particle is
accelerated by it.

(b)  To convert a given galvanometer into a voltmeter of ranges 2V, V
and % volt, resistances Ry, Rg and Rg ohm respectively, are
required to be connected in series with the galvanometer. Obtain

the relationship between R{, Rg and Rg. 5
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36. (a) What is meant by plane polarised light ? An unpolarised light is
incident at an angle 0 on the surface of glass of refractive index p.
If the reflected and refracted rays are perpendicular to each other,

then obtain the relationship between u and 6.
(b) Two polaroids P; and P9 are placed in a crossed position.
Unpolarised light of intensity I is incident on P;. If Py is rotated

through an angle 6 about the direction of propagation. of
light, keeping P; fixed, plot the graph of intensity of light for

0° < 6 < 360° which is (i) transmitted by P;, and (ii) transmitted
by P2. 5
OR
(a)  Briefly describe the Young’s double slit experiment of interference
of light. Drive the expression for fringe width in the pattern.

(b)  Monochromatic light of wavelength 588 nm is incident from air to
water interface. Find th@wavelength and speed of the refracted
: N 4
light. The refractive 1%(91*9 of water is 3" 5

¥
37. (a) An electric dip %E)f dipole moment 5) is placed in a uniform
electric ﬁel%@at an angle 6 with it. Derive the expression for
torque (?) acting on‘it. Find the orientation of the dipole relative
to the electric field for which torque on it is (i) maximum, and

(i1) half of maximum.

(b)  Two point charges q; = +1uC and q, = +4 uC are placed 2 m
apart in air. At what distance from q; along the line joining the
two charges, will the net electric field be zero ? 5
OR

(a) Derive an expression for the energy stored in a parallel plate
capacitor of capacitance C when charged up to voltage V. How is
this energy stored in the capacitor ?

(b) A capacitor of capacitance 1 uF is charged by connecting a battery
of negligible internal resistance and emf 10 V across it. Calculate
the amount of charge supplied by the battery in charging the
capacitor fully. 5
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